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NEW QUESTION 1
Which design element is a best practice when deploying an 802.11b wireless infrastructure?

A. disabling TPC so that access points can negotiate signal levels with their attached wireless devices.

B. setting the maximum data rate to 54 Mbps on the Cisco Wireless LAN Controller

C. allocating nonoverlapping channels to access points that are in close physical proximity to one another
D. configuring access points to provide clients with a maximum of 5 Mbps

Answer: C

NEW QUESTION 2
Which option about JSON is true?

A. uses predefined tags or angle brackets () to delimit markup text
B. used to describe structured data that includes arrays

C. used for storing information

D. similar to HTML, it is more verbose than XML

Answer: B

NEW QUESTION 3

| Jmust be unigue
|

rouser I st mestch |

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 4
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Which type of wireless encryption is used for WPA2 in preshared key mode?

A. TKIP with RC4
B. RC4

C. AES-128

D. AES-256

Answer: D

NEW QUESTION 5
Refer to the exhibit.

internet

"""'*‘Hln:"nnn

o >%—nm 10 10.0°28 —ﬁi :

" T .2 1 01 -* 3.0/3
¥y 2{10.10.12.0/30 Router Switch1 Host A

MPLS ; 101013 214

Routeri#show ip route
Gateway of last resorl is 10.10.11.2 to network 0.0.0.0

209165 200.0727 s subnetted, 1 subnets
B 209 165 200.224 [20/0] wa 10.10.12 2, 03-22:14
208 185 201 027 5 subnetted, 1 subnets
209.165.201.0 [20/0] via 10.10.12.2, 02:26:33
209165202 0727 5 subnetted, 1 subnets
209.165.202.128 [20/0] wa 10.10.12 .2, 02:26:03
10 0.0 0/8 15 vanably subnetted, 8 subnets, 4 masks
10,10 10 0/28 s directly connected, GigabitEthemet(/0
10.10.11.0/30 1s directly connected, FastEthernet2/0
10.10.12.0/730 is directly connected, GigabitEthemet/1
10.10.13.0/25 [110/2] via 10.10.10.1, 00:00-04, GigabitEthernet0/0 [
10 1013128728 [11072] via 10 10 101, 00-00:04, GigabiEthemet(/0
1010 :3 144728 [110/2] via 10 10.10 1, 00:00:04, GigabilEthernet(/0
10.10.13.160/29 [110/2] wia 10.10.10.1, 00.00.04, GigabilEthernetd/0
10.10.13.208729 [110/2] via 10.10.10.1, 00:00:04, GigabilEthemat0/0
* 0000/0[1/0]wa 10.10.11.2

Which prefix does Router 1 use for traffic to Host A?

=)

ms

Koo oOoO0O 00

A.10.10.10.0/28
B. 10.10.13.0/25
C. 10.10.13.144/28
D. 10.10.13.208/29

Answer: C

NEW QUESTION 6

A network engineer must back up 20 network router configurations globally within a customer environment. Which protocol allows the engineer to perform this
function using the Cisco 10S MIB?

A. CDP
B. SNMP
C. SMTP
D. ARP

Answer: C

NEW QUESTION 7
Refer to the exhibit.

ip arp inspaction vian 2

intarface fastathearnet 0/1
switchport mode access
switchpart Accass vian 2

What is the effect of this configuration?

A. The switch port interface trust state becomes untrusted

B. The switch port remains administratively down until the interface is connected to another switch
C. Dynamic ARP inspection is disabled because the ARP ACL is missing

D. The switch port remains down until it is configured to trust or untrust incoming packets

Answer: A
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NEW QUESTION 8
Refer to the exhibit.

Atlantafesnt ¢

Enter configuration commands, one per line. End with CNTL/Z.
Atlanta (config) faaa new-modsl

Atlanta (config) fass authsntication login defavit local
Atlanta (config) #line vty 0 4

Atlanta(config-line)#login authentication default

Atlanta (config-line) fexit

Atlanta (config) fusername ciscoadmin password adminadminll)
Atlanta (config) fusernane ciscoadmin ]:r;‘.*!l!ln-q'u 15

Atlanta (config) fenabls password ciscslll

Atlanta (config) fenable sscret testingllld4

Atlanta (config) fand

Which password must an engineer use to enter the enable mode?

A. adminadmin123
B. default

C. testing 1234

D. ciscol123

Answer: C

NEW QUESTION 9
Which output displays a JSON data representation?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 10

What is the primary different between AAA authentication and authorization?

A. Authentication verifies a username and password, and authorization handles the communication between the authentication agent and the user database.
B. Authentication identifies a user who is attempting to access a system, and authorization validates the users password

C. Authentication identifies and verifies a user who is attempting to access a system, and authorization controls the tasks the user can perform.

D. Authentication controls the system processes a user can access and authorization logs the activities the user initiates

Answer: C

NEW QUESTION 10

Drag and drop the threat-mitigation techniques from the left onto the types of threat or attack they mitigate on the right.
check the answer below.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 12

A Cisco IP phone receive untagged data traffic from an attached PC. Which action is taken by the phone?

A. It allows the traffic to pass through unchanged
B. It drops the traffic

C. It tags the traffic with the default VLAN

D. It tags the traffic with the native VLAN

Answer: C

NEW QUESTION 16
What are two characteristics of a controller-based network? (Choose two)

A. The administrator can make configuration updates from the CLI

B. It uses northbound and southbound APIs to communicate between architectural layers

C. It moves the control plane to a central point.

D. It decentralizes the control plane, which allows each device to make its own forwarding decisions

E. It uses Telnet to report system issues.

Answer: AC

NEW QUESTION 19

Which unified access point mode continues to serve wireless clients after losing connectivity to the Cisco Wireless LAN Controller?

A. sniffer

B. mesh

C. flexconnect
D. local

Answer: B

NEW QUESTION 23
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Which two encoding methods are supported by REST APIs? (Choose two)

A. YAML
B. JSON
C. EBCDIC
D. SGML
E. XML

Answer: AE

NEW QUESTION 27

What is the primary effect of the spanning-tree portfast command?

A. it enables BPDU messages

B. It minimizes spanning-tree convergence time

C. It immediately puts the port into the forwarding state when the switch is reloaded

D. It immediately enables the port in the listening state

Answer: A

NEW QUESTION 29

What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?

A. The Layer 2 switch drops the received frame
B. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.
C. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.

D. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table

Answer: B

NEW QUESTION 34
Refer to the exhibit.

Rl§ show 1p route

192 168.16.0/26 [90/2679326] wvwia 152.168.1.1
192 168 .16.0/24 [120/3) wia 192 .168.1.2
192.168.16.0/21 [110G/2)] wia 1% .1608.1.23

Ll 192 168 .16.0/27 [115/30] wvia 192 168.1. 4

= 0O W 0

Which route does R1 select for traffic that is destined to 192 168.16.27?

A. A.-192.168.16.0/21B.192.168.16.0/24C.192.168 26.0/26D.192.168.16.0/27

Answer: B

NEW QUESTION 39

Which IPv6 address block sends packets to a group address rather than a single address?
A. 2000::/3

B. FCO00::/7

C. FE80::/10

D. FF00::/8

Answer: C

NEW QUESTION 44
Refer to the exhibit.

[rootiHostTast =]§ ip routs
default via 192.168.1.1%3 dev ethl prote static
192.168.1.0/26 dev ethl proto kernel scope link src 192.168.1.200 metric 1

[root@HostTest ~]# ip addr show ethl

ethl: =ty 1500 qdisc pfifo_fast gqlen 1000
link fathar OQ:QC:22:83:79:A3 brd ff:-Ff:-fF:
inet 192.168.1.200/26 brd 152 .168.1.2558
inets fel0::20c:290f . fel3: 7902 E4 sCODS
'Jl.'..:.ﬂ._lff. foaravar _DI.'I!'III.'!M_:.:'. foaraver

Drag and drop the networking parameters from the left onto the correct values on the right. Check the answer below.
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 48
Which two values or settings must be entered when configuring a new WLAN in the Cisco Wireless LAN Controller GUI? (Choose two)

A. management interface settings

B. QoS settings

C. Ip address of one or more access points
D. SSID

E. Profile name

Answer: DE

NEW QUESTION 51
Which two actions influence the EIGRP route selection process? (Choose two)

A. The router calculates the reported distance by multiplying the delay on the exiting Interface by 256.

B. The router calculates the best backup path to the destination route and assigns it as the feasible successor.

C. The router calculates the feasible distance of all paths to the destination route

D. The advertised distance is calculated by a downstream neighbor to inform the local router of the bandwidth on the link
E. The router must use the advertised distance as the metric for any given route

Answer: AD

NEW QUESTION 53
Refer to Exhibit.
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SWiI:
interface FastEthernet0/1

switchport trunk native vlan 999
switchport mode trunk

switchport trunk encapsulation dotlg

interface FastEthernet0/1
switchport trunk encapsulation dotlq

switchport trunk native vlan 99
switchport mode trunk

Which action do the switches take on the trunk link?

A. The trunk does not form and the ports go into an err-disabled status.

B. The trunk forms but the mismatched native VLANs are merged into a single broadcast domain.
C. The trunk does not form, but VLAN 99 and VLAN 999 are allowed to traverse the link.

D. The trunk forms but VLAN 99 and VLAN 999 are in a shutdown state.

Answer: C

NEW QUESTION 56
Refer to the exhibit.

10.10 10.0/30

& Site B

R2#sh run | b router ospf

router ospf 1

router-id 2.2.2.2

I log-adjacency-changes

auto-cost reference-bandwidth 10000
network 10.10.10.1 0.0.0.0 area 0
network 10.10.13.1 0.0.0.0 area 0

I R2#show ip route
Gateway of last resort is not set
10.0.0.0/8 is variably subnetted, 3 subnets, 3 masks
C 10.10.10.0/30 is directly connected
C 10.10.13.0/25 is directly connected, Vlan20
C 10.10.13.144/28 is directly connected, Viand(

An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from

10 10 10.16/30 e T
7 Internet

Ri#show ip route
Gateway of last resort is not set
10.0.0.0/8 is variably subnetted, 4 subnets, 3 masks
C 10.10.10.0/30 is girectly connected, FastEthernet0/1
O 10.10.13.0/25 [110/6576] via 10.10.10.1, 01:37:03
C 10.10.10.16/30 is directly connected, FastEthernet(/24
O 10.10.13.144/28 [110/110] via 10.10.10.1, 01:37:03

Ri#sh run | b router ospf

router ospf 1

router-id 1.1.1.1
log-adjacency-changes

auto-cost reference-bandwidth 10000
network 10.10.10.2 0.0.0.0 area 0
default-information originate

the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/257?

A. Traffic t0 10.10.13.0.25 is load balanced out of multiple interfaces

B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface GiO/1.

C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D

Passing Certification Exams Made Easy

visit - https://www.2PassEasy.com




Welcome to download the Newest 2passeasy 200-301 dumps

@ 2 P QsseaQs U https://lwww.2passeasy.com/dumps/200-301/ (559 New Questions)

NEW QUESTION 59

Which feature on the Cisco Wireless LAN Controller when enabled restricts management access from specific networks?

A. CPUACL
B. TACACS
C. Flex ACL
D. RADIUS

Answer: B

NEW QUESTION 64
Refer to the exhibit.

SW1#sh lacp neighbor
Flags: S - Device 1is requesting Slow LACPDUs
F - Device 1s requesting Fast LACPDUs

Channel group 35 neighbors
Partner's information:

LACP port
Port Flags Priority Dev ID Age
Et1/0 SP 32768 aabb.cc80.7000 8s
Etl/1 SP 32768 aabb.cc80.7000 8s

Admin
key
Ox0
0x0

A - Device 1s 1n Active mode P - Device 1s 1n Passive mode

Oper
Key

Ox23
0x23

Port Port
Number State
0x101  @x3C
0x102  Ox3C

Based on the LACP neighbor status, in which mode is the SW1 port channel configured?
A. passive

B. mode on

C. auto

D. active

Answer: A

NEW QUESTION 67

A user configured OSPF and advertised the Gigabit Ethernet interface in OSPF By default, which type of OSPF network does this interface belong to?

A. point-to-multipoint
B. point-to-point

C. broadcast

D. nonbroadcast

Answer: B

NEW QUESTION 72

Which mode allows access points to be managed by Cisco Wireless LAN Controllers?
A. autonomous

B. lightweight

C. bridge

D. mobility express

Answer: B

NEW QUESTION 73
Refer to Exhibit.
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’ Se0/0/1 2013 1126 Se0/0/1 e
“'. ) — g
L™ ]
o el Washington
Atlanta + Se00/0 SeQ000 - L 03 gt
Lo1 it g : :
ez Static route to Lo1 on Atlanta via SeQ/0/1
Defaut Rouwte 0 wa Se(/0/1 N
2012 /126 = :
: Configured routers |PvE addresses
Atlanta
. pve Senal 00/0.2012.1/126
20231126 Serial 0/0/1 : 2013.:1/126
Loopback1 2000 :1/128
S EEa New York.
Se0/00 e Se0/0/1 T :
\ " Senal 000 - 2012:2/126
Senal 00/1 - 2023:2/126
New-York Loopback2 2000 2/128
Lo2

- Washington

Senal 0000
Senal 0/0/1

Loopback3 2000 3/128

2023 3126
20133126

An engineer is configuring the NEW York router to reach the Lol interface of the Atlanta router using interface Se0/0/0 as the primary path. Which two commands
must be configured on the New York router so that it can reach the Lol interface of the Atlanta router via Washington when the link between New York and Atlanta

goes down? (Choose two)

A. ipv6 router 2000::1/128 2012::1
B. ipv6 router 2000::1/128 2012::1 5
C. ipv6 router 2000::1/128 2012::2
D. ipv6 router 2000::1/128 2023::2 5
E. ipv6 router 2000::1/128 2023::3 5

Answer: DE

NEW QUESTION 77
Refer to the exhibit.

Router#
Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, | - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay
Device ID Local Intrfce Holdtme Capability Platform Port ID
10.1.1.2 Gig37/3 176 R1 CPT600 Gig36/41
10.1.1.2 Gig37/1 174 R1 CPT600 Gig36/43
10.1.1.2 Gig36/41 134 " R1 CPT600 Gig37/3
10.1.1.2 Gig36/43 134 h RI CPT600 Gig37/1
10.1.1.2 Ten3/2 132 RI CPT600 Ten 4/2
10.1.1.2 Ten4/2 174 R1 CPT600 Ten 3/2
L - - -

Which command provides this output?
A. show ip route

B. show ip interface

C. show interface

D. show cdp neighbor

Answer: D
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NEW QUESTION 82
Which 802.11 frame type is association response?

A. management
B. protected frame
C. control

D. action

Answer: B

NEW QUESTION 84

Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: DE

NEW QUESTION 88

Which result occurs when PortFast is enabled on an interface that is connected to another switch?
A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down

D. After spanning tree converges PortFast shuts down any port that receives BPDUs.

Answer: A

NEW QUESTION 89
Refer to the exhibit.

What does router R1 use as its OSPF router-ID?

A.10.10.1.10
B. 10.10.10.20
C.172.16.15.10
D. 192.168.0.1

Answer: B

NEW QUESTION 90
Refer to the exhibit.

e ~~—__ Router1 Router2 — ~

Site A

RouterZ2show ip route
Gateway of last resort is not set

10.0.0.0/8 is vanably subnetied, 4 subnets, 2 masks
10.10.10.8/30 is directly connected, FastEthernet/2
10101012730 1s directly connecied, FastEthemet(/1
10.10.13.0/25[110/11] via 10.10.10.9, 00:00:03, FastEthernet0/2
[110/11] via 10.10.10.13, 00:00:03, FastEthermnet0/1
10 1010 4/30 15 directly connected, FastEthemet(/2

OO0

—
L

If OSPF is running on this network, how does Router 2 handle traffic from Site B to 10.10.13/25 at Site A?
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A. It sends packets out of interface Fa0/2 only.
B. It sends packets out of interface Fa0/1 only.
C. It cannot send packets to 10.10.13 128/25

D. It load-balances traffic out of Fa0/1 and Fa0/2

Answer: D

NEW QUESTION 91

Which mode must be used to configure EtherChannel between two switches without using a negotiation protocol?

A.on

B. auto

C. active

D. desirable

Answer: D

NEW QUESTION 95

R1 has learned route 192.168.12.0/24 via I1S-IS. OSPF, RIP. and Internal EIGRP Under normal operating conditions, which routing protocol is installed in the

routing table?

A. IS-IS

B. RIP

C. Internal EIGRP
D. OSPF

Answer: C

NEW QUESTION 99

Which MAC address is recognized as a VRRP virtual address?
A. 0000.5E00.010a

B. 0005.3711.0975

C. 0000.0C07.AC99

D. 0007.C070/AB0O1

Answer: A

NEW QUESTION 100

Which statement correctly compares traditional networks and controller-based networks?

A. Only traditional networks offer a centralized control plane
B. Only traditional networks natively support centralized management

C. Traditional and controller-based networks abstract policies from device configurations
D. Only controller-based networks decouple the control plane and the data plane

Answer: C

NEW QUESTION 102
Refer to the exhibit.

Fl§ show ip route | begin gateway
Gateway of last resort is 209 165.200.246 to netwerk 0.0.0.
& 0.0.0.0/0 [1/0] wia 209, 1683 200. 246, Seriald/S1l/0

is directly connected, Sariald/f1/0

172.16.0.0/16 is variably subnetted, 3 subnats, 3 masks
- 172.16.0,.0/24 [1/0] wia 207, 163 200.230, Seriald/0/0

(=]

Sariald/or1

o 172.16.0.128/2% [110/38443) wia 207.165%.200.25%4, 00:00:23,

D 172.16.0.15%2/29 [90/318443%) wia 207.1€%2 . 200.254, 00:00:2%, Seriald/0/1
209,165 . 200.0/24 is vaciably subnetted, 4 subnets, 2 masks

C 209165 . 200.248/30 iz directly connected, Serialld/ 070

L 209.163 . 200.245/32 is directly connected, Seriall/0/0

c 20%, 163 200 252/30 is directly connected, Seriald/sfo/1

L 209.1685.200.253/32 isa Airescrly connacted, Sarisldfo 1

With which metric was the route to host 172.16.0.202 learned?
A. 110

B. 38443

C. 3184439

Answer: C

NEW QUESTION 107

An engineer must configure a WLAN using the strongest encryption type for WPA2- PSK. Which cipher fulfills the configuration requirement?

A. WEP
B. RC4
C. AES
D. TKIP
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Answer: D

NEW QUESTION 109
Which statement about Link Aggregation when implemented on a Cisco Wireless LAN Controller is true?

A. To pass client traffic two or more ports must be configured.
B. The EtherChannel must be configured in "mode active"
C. When enabled the WLC bandwidth drops to 500 Mbps
D. One functional physical port is needed to pass client traffic

Answer: C

NEW QUESTION 113

Which API is used in controller-based architectures to interact with edge devices?
A. overlay

B. northbound

C. underlay

D. southbound

Answer: D

NEW QUESTION 114

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-301 dumps

@ 2 p QsseaqQs LJ https://lwww.2passeasy.com/dumps/200-301/ (559 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual 200-301 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
200-301 Product From:

https:/lwww.2passeasy.com/dumps/200-301/

Money Back Guarantee

200-301 Practice Exam Features:

* 200-301 Questions and Answers Updated Frequently
* 200-301 Practice Questions Verified by Expert Senior Certified Staff
* 200-301 Most Realistic Questions that Guarantee you a Pass on Y our FirstTry

* 200-301 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

